Year 2 Maths Week beginning 29th June 2020
Division
Task 1:

Use pictures to answer these division questions.

1.10 =+ 5 =
2.8 + 2 =
3.30 + 10 =
4,10 + 2 =
5.12 + 2 =




6.30 + 5 =

7.50 = 10 =

8.4 + 2

9.45 + 5 =

10. 40 = 10




Task 2:

Use an array to work out these division questions.

1.10 + 5 =
2.8 + 2 =

3.30 = 10 =
4.10 + 2 =
5.12 + 2 =
6. 30 + 5 =




7.50 + 10 =

8.4 + 2

9. 45 + 5 =

10. 40 =+ 10




Task 3

Use a number line to work out these division questions. They
will look the same as for multiplication - start at zero and
count up in the number you are dividing by until you reach
your starting number (count from 0 in 2s up to 6) the number
of jumps is your answer (3).

1.6 - 2 =
2.12 = 2 =
3.100 = 10 =
4.15 = 5 =
5.35 + 5 =
6.70 = 10 =




8.55 + 5

9.24 + 2

10.

120 = 10




Task 4: Division Word Problems

Sam 1s sharing
biscuits between him
and his four
brothers. There are
25 biscuits 1in the
packet. How many
biscuits will they
each get?

Polly had 50 buttons
and she shared them
out between 10
different jars. How
many buttons were in
each jar?

There are 20 owls 1n
Carol’s collection.
2 owls can live 1n
each cage. How many
cages will she need?

On a wet day the
teacher finds 24
wellies. How many
children will be
able to wear one on
each foot.




A machine making
sweets puts 10 in
each packet. If the
machine produces 70
sweets. How many
packets can it f111°?

James has 20
football cards and
he shares them
between him and his
4 friends. How many
do each of them get?

A car seats b
passengers. How many
cars would you need
to take 40 people to
the shops?

Mr Blavet wants to
separate his class
of 30 into groups
of 5. How many
groups would he
need?




